
External outfitting N-069M-OD,063S-OD

071

002

015

015

002

007

005

004

003

001

035

074

034

020

010

073

037

016

007

 For N-063S-OD only

 For N-069M-OD only



External outfitting N-069M-OD,063S-OD

14637AKSSA-tes tnorF DO-M960-N100
2200LAAEAAE          1 gnikcap tnorF200
1810KUHEUHE          1 lebal noituaC300
1400KUAEUAE          2 lebal noituaC400
1200KUHEUHE         lebal margaid noitcennoC500

>DO-M960-N<1120AUHEUHE               W esaC700
>DO-S360-N<1110AVHEVHE               W esaC

1620APXCPXC              temmorG010
2710LPAAPAA          L gnikcap tnorF510
1800KCEDCED           etalp laes pmaL610
1220AKXBKXB gnilpuoc gniriW020
1800AUHEUHE    tes xob noitcnuJ430
1200LUHEUHE    gnikcap xob noitcnuJ530
1300HCWBCWB  003-rotsimreht riA730

071 Cross recessed truss type3 EVERTIGHT tapping screw with PW 4X12
073 Cross recessed round-head collar type3 EVERTIGHT tapping screw 4X14
074 Cross recessed round-head collar N-tapping screw 4X8

Part tinu/yt'Q.soN redrOsemaN traP.soN 



Combution unit and gas route N-069M-OD,063S-OD

103

102
105167

110

115

116

074

163

113

111

112

074074

167

162

117

114

074

169

126

127

127

133

134

132

166

165
128

145

074

074

118

104

125

164

166 140

168

138

134
168

107

106

074

100

101



Combution unit and gas route N-069M-OD,063S-OD

15637AKSV-TES A-UHE tes ebut noitsubmoC001
1100LJTDJTD   gnikcap tnioj  ria noitcuS101
14867CBSV-TES KLD gnikcap & LZC gulp noitingI201
15867CBSV-TES KLD gnikcap & dor emalF301
15172BAS)IHCIN(  KLD  )B rof( gnikcap gulP401
1920CKLDKLD    )B rof( etalp gnitnuom gulP501
13017FBSV-TES DWD gnikcap & Q rosnes renruB601
1500LDWDDWD       gnikcap rosnes renruB701
1140CJTDJTD        11 repmad niaM011
1400LJTDJTD          Q gnikcap naF111
1530FJTDJTD           egnalf naF211
1130FUHEA-UHE              retom naF311
1240FJTDJTD         84htuom-lleB411
1510AJTDJTD        retingi rof etalp gnitnuoM511
1200JPRCPRC             retingI611
1970JSLASLA       053L droc egatlov-hgiH711
1010LJTDJTD      gnikcap draug tiudnoC811

8047AKSSA-TES UHE 61dlofinaM521
9047AKSSA-TES UHE 42dlofinaM
500LJTDJTD      pot gnikcap laes dlofinaM621
700LJTDJTD      edis gnikcap laes dlofinaM721

2

600LJTDJTD     mottob gnikcap laes dlofinaM821
1

3387EBSV-TES NDE D61S .hcem saG231
1

133 O-ring P18 2110903
2

134 O-ring P28 1648306
2

110EUHEUHE   gnilpuoc saG831
1

120EUHEUHE   TES A02 gnittif saG041
1

400JUHEUHE   01R tiudnoC541
1

162 Cross recessed round-head N-tapping screw 4X8
163 Cross recessed round-head collar N-tapping screw 4X12
164 Cross recessed truss machine screw with PW M4X12
165 Cross recessed round-head type3 EVERTIGHT tapping screw 5X16
166 Cross recessed hexagon head machine screw M4X8
167 Cross recessed round-head collar N-tapping screw 4X10
168 Cross recessed round-head machine screw M5X12
169 Cross recessed round-head SPAKmachine screw with guide M4X14

Part tinu/yt'Q.soN redrOsemaN traP.soN 

1<LPG>
1<NGA>



Hot-water feed route N-069M-OD

(Thermal fuse rounding procedure)

Freeze preventive heater Heater fastener Thermal fuse 403

401

407 409

402 402 402

(Front side view)(Left side view) (Rear side view)(Right side view)
Thermal fuse fastenerThermal fuse fastenerThermal fuse fastenerThermal fuse fastener

403

401
400

402

402

402
402

404

162

407

444

443

461

429

425

442

448

451

410

462

467

415

418

416
419

419

417

410
462

467

445

446

437
438

436

435

419

417

466

444

426

464

427465
429

418430

418

415

416

419

452

431

432

406
074

409



Hot-water feed route N-063S-OD

(Thermal fuse rounding procedure)

Freeze preventive heater Heater fastener Thermal fuse 403

401

407 409

402 402 402

(Front side view)(Left side view) (Rear side view)(Right side view)
Thermal fuse fastenerThermal fuse fastenerThermal fuse fastenerThermal fuse fastener

403

401
400

402

402

402
402

404

162

407

425

448

451

415

418

416

419
419

417

410
462

467

445

446

419

417

444

426

464

427465
429

452

444

447461

429

441

437
438

436

435

410
462

467

406

074

409



Hot-water feed route N-069M-OD,063S-OD

>DO-M960-N<16637AKSSA-TES UHE W xob tsuahxE & regnahcxe taeH004
>DO-S360-N<17637AKSSA-TES VHE W xob tsuahxE & regnahcxe taeH

1500HLZCLZC      renetsaf esuf lamrehT104
5200HJTDJTD      renetsaf esuf lamrehT204
13077CBSV-TES JTD Q esuf lamrehT304
1100HUHEUHE           69 ecived ytefas emalf gniniameR404
1100LRZCRZC   Q gnikcap pot tnorF604
15477QASV-TES PRC  retaeh evitneverp ezeerF704
1100HKHEKHE             renetsaf retaeH904
2200HDGBDGB       3 retaeh evitneverp ezeerF014

>DO-M960-N<27356DAS22-31 renetsaf kciuQ514
>DO-S360-N<17356DAS22-31 renetsaf kciuQ
>DO-M960-N<23956DAS52-61 renetsaf kciuQ614
>DO-S360-N<13956DAS52-61 renetsaf kciuQ

20030436A61 renetsaf kciuQ714
418 O-ring P12.5C 3359808 3<N-069M-OD>

O-ring P12.5C 3359808 1<N-063S-OD>
419 O-ring P16C 3223302 4<N-069M-OD>

O-ring P16C 3223302 3<N-063S-OD>
1910DVUDVUD      3tes rosnes wolf retaW524
1090DCWBCWB        rosnes citengam teltuo retaW624
1790DCWBCWB     003-rotsimreht telni retaW724
2880DSLASLA          etalp gnidloh rotsimrehT924

>DO-M960-N<1500DUHEUHE        epip ssapyB034
>DO-M960-N<1700DUHEUHE     tes evlav retaW134
>DO-M960-N<1600JUHEUHE             32 tiudnoC234
>DO-M960-N<1100DUHEUHE     tes A02 gnittif telni retaW534

W >DO-S360-N<1100DVHEVHE     tes A02 gnittif telni reta
1600DJTDJTD  revoc retlif retaW634
1800LQRB2307NF D61P gnir-O734
1230DBGEBGE   )SUS( retlif retaW834

>DO-S360-N<1500DPKHPKH       tes ovres wolf retaW144
>DO-M960-N<1110DTZDTZD 2 tes ovres wolf retaW244
>DO-M960-N<1890DCWBCWB 003-rotsimreht regnahcxe taeH344

444 O-ring P4C 1323709 2
1140DLZCLZC          revoc foorpretaW544
1800JTZDTZD            68 tiudnoC644

>DO-S360-N<1690DCWBCWB 003-rotsimreht retaw-toH744
1400DUHEUHE       A02gnittif teltuo retaw-toH844
1300DURCURC               kcoc niarD154
13366DAS3P gnir-O tnatsiser retaw-toH254

461 Cross recessed round-head P TIGHT screw 4X14
462 Cross & straight recessed truss type3 S TIGHT tapping screw 4X6
464 Cross recessed truss P TIGHT screw 4X10
465 Cross recessed round-head P TIGHT screw 4X14

>DO-M960-N<8X4M wercs enihcam daeh-dnuor dessecer ssorC664
467 Cross recessed round-head collar type3 EVERTIGHT tapping screw 4X12

Part tinu/yt'Q.soN redrOsemaN traP.soN 



Electronic control unit N-069M-OD,063S-OD

Remote controller
kitchen remote controller
(RC-7646M-2-USA)
For N-069M-OD only

Attached set

Special part Special part no.

<Special part>

instruction manual 888

731
731 074

707
732

074

714

716 708

163

074

074
711

712

163

704

700

703

163

074

705

752

751 753

754

755

801
802

706

074

For N-069M-OD only

For N-069M-OD only For N-069M-OD only

For N-063S-OD only

For N-069M-OD only



Electric controller, Remote controller and attached set N-069M-OD,063S-OD

700 Relay case EHU-C SET-AS 1
1700AUHEUHE       esac yaler rof etalp gnitnuoM307
1310AUHEUHE         revoc esac yaleR407

>DO-M960-N<1120JUHEUHE              W ssenraH507
>DO-S360-N<1120JVHEVHE              W ssenraH

1410JPRCPRC          tiudnoc elbac pmaL607
1510JJTDJTD   ecived ytefas egakael tnerruC707
1600ATZDTZD       kcolb lanimret rof etalp gnitnuoM807
1600JNDENDE              remrofsnarT117
1450APJDPJD           revoc remrofsnarT217
19097827)N4-KN( N4-PH pmalc nolyN417
1710JPRCPRC        kcolb  lanimreT617

731 Cross recessed bind machine screw M3.5X6
732 Cross recessed round-head N-tapping screw 4X12

>DO-M960-N<1500JEMQEMQ  ASU ydob  2-M6467-CR157
>DO-M960-N<1300AEMQEMQ      ydob emarf desserD257
>DO-M960-N<1511AUHQUHQ           gnikcap llaW357

754 Oar plug 6X25 <N-069M-OD>
>DO-M960-N<52X1.4 wercs doow dnuor dessecer ssorC557

14447PBSV tes gnikcap  M960-N008
801 Cross recessed round-head machine screw M5X12

>DO-M960-N<1100MUAEUAE   TES S droc rellortnoc etomeR208
10338RASDO-M960-N launam noitcurtsnI888

Part tinu/yt'Q.soN redrOsemaN traP.soN 

SHA7841


